9 | 8edr SR700

INSTALLATION GUIDE / INSTRUKCJA OBSLUGI
Whole product / Catos¢

S

et includes / Zestaw zawiera

Backrest / Seat / Control unit /
Oparcie Siedzisko Mechanizm
x1 x1 x1
Base / MS8 screws / M6 screw /
Podstawa Zestawy srub M8 Sruba M6

x1 *%;;‘2

F=00|x4
Plastic covers / Casters / M8 allen key /
Maskownice Kotka toczne Klucz imbusowy

x2

‘1 N
Cushions / Gas lift / Podnosnik

Zestaw poduszek

n
i
x5

x1 x1

stallation / M

®

n
1

2

EN: Install casters into the base EN: Insert the gas lift into the base
PL: Wcisnij kétka w podstawe PL: Wcisnij podnosnik w podstawe

EN: Undo the M8 screws and mount the control unit using those screws EN: Put the seat onto the top of gas lift and insert it
About 2 weeks after assembling the chair tighten those screws again. PL: Naté: siedzisko na top podnosnika i je wcisnij
PL: Odkrec z siedziska srubki M8 i przykre¢ mechanizm przy pomocy tych srubek
Po okoto 2 tygodniach od ztoZenia fotela zaleca sie jeszcze raz dokreci¢ wszystkie sruby. www.spcgear.com



9 | 8edr SR700

INSTALLATION GUIDE / INSTRUKCJA OBStUGI

EN: Undo the M8 screws from backrest and install it on the seat using those screws EN: Repeat point 5 for the second side of the seat
PL: Odkrec z oparcia srubki M8 i przymocuj oparcie do siedziska uZzywajgc tych srub PL: Powtérz czynnosci z punktu 5 dla drugiej strony oparcia

4 N\
EL O
EN: Install plastic cover and secure it using M6 screw EN: Repeat point 7 for the second side of the seat
PL: Zamontuj plastikowqg maskownice i przykrec jq srubkg M6 PL: Powtérz czynnosci z punktu 7 dla drugiej strony oparcia

EN: Install plastic cover EN: Repeat point 9 for the second side of the seat
PL: Zamontuj plastikowq zaslepke PL: Powtérz czynnosci z punktu 9 dla drugiej strony oparcia

EN: Install cushions using elastic stripes
PL: Zamontuj poduszki uZzywajqc elastycznych paskow

WWW.spcgear.com



g | 8edr SR700

INSTALLATION GUIDE / INSTRUKCJA OBStUGI

s / Opcje regulacji

EN: Adjust height of armrests
PL: Regulacja wysokosci podtokietnikow

EN: Adjust height of seat
PL: Regulacja wysokosci siedziska

EN: Adjust angle of the backrest (up to 170 degrees)
PL: Regulacja kqta nachylenia oparcia (do 170 stopni)

EN: Armrests horizontal positions
PL: MoZliwe poziome ustawienia podfokietnikow

WWW.spcgear.com



9 | 8edr SR700

INSTALLATION GUIDE / INSTRUKCJA OBStUGI

—

EN: Rocking function with blocking option
PL: Opcja bujania z blokadq

e
1 he

EN: Don't use rocking function when angle of the backrest is above 120 degrees EN: Please use the chair in accordance with its intended purpose.
PL: Nie uZzywac opcji bujania przy nachyleniu oparcia powyzZej 120 stopni PL: Prosze uZywac fotela zgodnie z jego przeznaczeniem.

WWW.spcgear.com



